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QUESTION NO: 1

A cluster contains database VMs which have low utilization, except during a weekly data load that causes extremely high
utilization.

As DRS balances the VM load, there is an extended period of slow performance.

Which two actions could be taken to reduce the impact of the recurring data load? (Choose two.)
A. Increase the number of vCPUs on the database VMs.

B. Enable VMware vRealize Operations Manager Integration with VMware vCenter.

C. Enable Proactive HA on the cluster.

D. Enable Predictive DRS on the cluster.

E. Increase the RAM allocated to the database VMs.

ANSWER: B D

QUESTION NO: 2

What is required to convert a VM to a template?
A. Power off the virtual machine.

B. Choose a thin-provisioned format.

C. Reregister the template.

D. Select a storage policy.

ANSWER: A

QUESTION NO: 3

What are two advantages of deploying a VDS as compared to a VSS? (Choose two.)
A. Data center setup and administration are simplified by centralizing network configuration.
B. There is IPv6 support for a VDS.

C. 802.1Q tagging support is available.
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D. Uplinks are allowed to be configured in an Active/Standby configuration.

E. Ports migrate with their clients.

ANSWER: AE

QUESTION NO: 4

VMs are violating affinity rules and DRS is unable to correct the rules violations.

Which two actions should an administrator take to identify why DRS is unable to satisfy the affinity rules? (Choose two.)
A. Review VM Overrides tab.

B. Review systems logs.

C. Review if violated rules are in vCenter VAMI.

D. Review Faults tab in DRS.

E. Review VM OS logs.

ANSWER: AD

QUESTION NO: 5

Which action should be taken to ensure vSphere Update Manager (VUM) is available?
A. Download VUM from myVMware.

B. Consider Windows based vCenter for compatibility.

C. Enable VUM in the vSphere Client.

D. Install VCSA.

ANSWER: C
QUESTION NO: 6

Which configuration could prevent an administrator from performing a vSphere vMotion migration?

A. CPU affinity is enabled on the VM.
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B. The ESXi hosts use IPv6 addresses.
C. The VM has an RDM in virtual compatibility mode.

D. 1GbE adapters are in use for the vMotion network.

ANSWER: A

QUESTION NO: 7

A vSphere administrator attempts to create a VM-VM affinity rule but is unable to locate the option in the vSpehre Client.
What would cause this to happen?

A. vSphere DRS is disabled

B. vSphere DRS is set to manual

C. Admission control is not enabled

D. Affinity rules are only managed using the Host Client

ANSWER: A

QUESTION NO: 8

How should a vSphere administrator deploy VMs with virtual hardware version 13 on an
ESXi 6.7 host?

A. Disable CPU Hot-Add feature.

B. Change the EVC settings on the cluster.

C. Change the default VM Compatibility settings.

D. Disable snapshot operation for virtual machines.

ANSWER: C

QUESTION NO: 9

What are two features of the CPU scheduler? (Choose two.)
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A. allocates CPU and memory resource usage

B. determines which worlds are entitled to CPU time
C. schedules vCPUs on physical CPUs

D. creates a world for each virtual machine to run it

E. checks CPU uptime

ANSWER: AC

QUESTION NO: 10

A vSphere administrator is deploying a vCenter Server 6.7 with an embedded Platform Services Controller. During the
installation the vCenter Server and Web Client installers display this error:

Could not contact Lookup Service. Please check VM_ssoreg.log What are two possible reasons for this error to occur?
(Choose two.)

A. Firewall ports are blocked

B. Certificates are invalid

C. Time on the host machines is out of sync.
D. vpxa service is stopped.

E. SSO credentials

ANSWER: AC
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